1. What is your understanding of air traffic control?  

The air traffic control (ATC) system is primarily to prevent a collision between aircraft operating in the system and to organize and expedite the flow of traffic.
The air traffic control system provides air traffic services to ensure the safety and efficiency of flights. 

The ATC system can be devided into three part:are control ,approach control and aerodrome control. 

The ATC actually do:

Give instructions and any other relevant information to aircraft 

Organizing the planes into a neat sequence.

In constant radio contact with the pilots, keep them up-to-date on the weather and any unusual or changes.

The main thing is the level or altitude I want them to fly at.

The ATC work in shifts and get some special training.

2. What are the different positions within an aerodrome control unit? And what are their duties respectively?

1.DEL position: Delivery is the first ATC that pilots will contact before engine-start. 

2.GND position: ground handles all aircraft on the ground, except that on the active runways. 

3.TWR position: tower handles all aircraft on the active runways and airborne aircraft that are visual with the runway within the airspace around the aerodrome. 

4.DEP position: departure handles all departing aircraft after they are airborne and handed off by the TWR. 

5.APP position: approach position.

6.ACC position: area control owns all airspace within his flight information region that is not controlled by any APP or TWR. 

7.ARR:Arrival normally only handles arriving aircraft from the IAF towards landing.

3. Why is handoff important in handling air traffic?

Handoffs are necessary when aircraft cross sector boundaries and when an aircraft crosses the boundary between two separate ATC facilities, such as between two centers or between a tower and center. 

*This ensures that the receiving controller will be in radio contact with the pilot before the aircraft enters his or her sector. This permits the reveiving controller to issue any new control instructions to the pilot before the aircraft crosses the sector boundary.
4. How is flight information service different from ATC service?

Flight informations service(FIS) do not providing separation positively.ATC is primarily to prevent a collision between aircrafts, and  expedite the flow of traffic.
5. What is “flight information”? Explain is with examples.

Flight information primarily includes: meteorological information, information on aerodromes, information on possible hazards to flight, such as SIGMET and AIRMRT information; information concerning pre-eruption volcanic activity, volcanic eruptions and volcanic ash clouds; information concerning the release into the atmosphere of radioactive materials or toxic chemicals; and information on changed in the serviceability of navigation aids.

6. What is the difference between controlled airspace and uncontrolled airspace?

The airspace under the jurisdiction of controllers for aircraft separation is called controlled airspace. As in uncontrolled airspace, aircraft may fly without the use of the air traffic control system.

7. Under what circumstances should alerting service be initiated?

When the position of the aircraft is in doubt, or no report from an aircraft within a reasonable period of time, or after a scheduled or expected reporting time, the alerting service should be initiated.
8. What should a controller do when the pilots report that they have a TCAS Resolution Advisory?

The suggestive action may be “corrective”, suggesting the pilot change vertical speed by announcing, “descend, descend”, “climb, climb” or “adjust Vertical Speed Adjust”.

9. Why do you think flow control is necessary?

It is the regulation of air traffic in handling traffic in oder to avoid exceeding airport or ait traffic control capacity, and to ensure the effective use of available capacity.

10. What methods are available for ATC to implement flow control?

Holding patterns . ground delay program. Divert to an alternate airport. 

Using ATFM service to permit full use of ATC capacity, maximum flexibility in the use of the route structure, and to ensure minimum delay for all flights and orderly distribution of traffic flows.

11. In your opinion, what can be done to reduce flight delays in China?

When the control ability of an air traffic control unit reaches its limit, we should issue flaw control and request arriving aircraft towards to holding area; besides, we can implement a grand delay program and make the aircraft diverting.

12. Where should prohibited and restricted areas be established?

Prohibited areas and temporary prohibited areas may be established over important political, economic or military objects of the state. Restricted areas may be established over important military places or weapon test fields located in the vicinity of airways or air routes or in the aerodrome flight airspace of aviation units such as military air units and flying school.

13. What are the benefits of implementing RVSM?

Reduced Vertical Separation Minima or Minimum (RVSM)  

can increase the number of aircraft that can safely fly in a particular volume of airspace, and reduce delays.

14. What is the importance of radio communication to air traffic control?

The current ATC system relies heavily on voice communications between air traffic controllers and pilots. These communications are required to support coordination of aircraft movement in all phases of flight, to ensure aircraft separation, to transmit advices and clearances, and to provide aviation weather services.

15. If your observe a squawk number 7500 on your radar display, what should you do?

ATC may re-establish communications with NORDO aircraft by using emergency  frequencies, voice features  of NAVAIDs, or aviation light signals .In the event of one-way communications ,the controller may request the aircraft make identifying turns ,flash their navigational lights , transmit codes or IDENT signals on the transponder , rock their wings , etc , to acknowledge clearances or instructions.

16. What can be done to ensure effective communication between pilots and controllers?

1)Using standard procedures and phraseology.

2)Using readbacks and hearbacks.

3)Slow the rate of speech.

4)Try to minimize the amount of information in transmission.

5)Using a standard for pronunciation of letters and numbers

6)focus on the task in hand.

7)calm,stay on the ball,react very quickly ,excellent spatial awateness.

8)telephone equipment is sophisticated enough to permit such communication effortlessly.

These barriers may include: noise, static, multiple, communications, fatigue, stress, distractions, incomplete massage, ambiguous wording, lack of credibility, lack of rapport, think in personal terms, jargon and boring.

17. Why is readback needed in air-ground communication?

Because  safety-related information must be read back to ensure effective communication and safety of flight.

18. Do you think English proficiency important for pilots and air traffic controllers?

To protect  flight safety and to enhance the efficiency of flight.

19. Why should pilots and controllers try their best to use standardized phraseologies in radio communication?

The purpose of phraseologies is to provide clear, concise, unambiguous language to communication messages of a routine nature.

20. What radio navigation aids are used in today’s air navigation?

VOR: very high frequency omnidirectional radio range.

NDB: non-directional beacon .

DME: distance measuring equipment.

ILS: instrument landing system.

GNSS: global navigation satellite system

21. Do you think satellite-based air navigation system will replace today’s ground-based air navigation system? Give your reasons.

No. GNSS signals provide sufficient accuracy for en route and two-dimensional navigation, but they do not provide acceptable vertical or lateral landing guidance. The standard GNSS signal needs to be augmented to provide this capability. This can be accomplished by using either ground-based augmentation system(GBAS) or satellite-based augmentation system(SBAS).

22. What does the term PBN stand for? And what does that include?

Performance-based Navigation. PBN includes both Area Navigation (RNAV) and Required Navigation Performance (RNP).

23. What benefits will PBN bring to the civil aviation?

1)It reduces the need to maintain sensor-specific routes and procedures, and their associated costs; 
2)allows for more efficient use of airspace;
3)clarifies how RNAV systems are used; 
4)facilitates the operational approval process for operators by providing a limited aet of navigation specifications intended for global use.

24. Why do we say surveillance is the eye of ATC?

Without it, ATC can hardly ensure the safety of flights. For the provision of effective ATC services, people or systems on the ground must know the position of the aircraft on a continuous basis and be able to eatimate their future position.

25. What is the difference between dependent surveillance and independent surveillance? Can you provide an example?

In dependent surveillance systems, aircraft position is determined on board and then transmitted to ATC. The current voice position reporting. Independent surveillance is a system which measures aircraft position from the ground. 

26. Do you think pilot’s position report will still be important when the ADS-B is in operation?

The ADS-B system broadcasts information periodically to all aircraft in the immediate vicinity and all air traffic management facilities within a specified area.

27. What is the difference between radar control and procedure control?

28. What are the differences between PSR and SSR?

PSR is a device for carrying out surveillance of airspace. SSR is a radar device installed in air traffic control facilities to allow the precise identification of aircraft.

PSR is that it operates totally  independently. 

The disadvantages of  PSR are that: (1) enormous amount of power;(2) easily disrupted;(3)requires an identification process.

The great advantages of SSR are three: (1) The reply signal is transmitted from the aircraft, it is much stronger when received at the ground station.(2)Providing considerable economy;(3)Offered to transmit additional information between the two stations.

Disadvantages of  SSR: carry an operating transponder. 

29. What should a air traffic controller do when the radar system has failed? 

30. Do you consider runway marking, signs and lights important in airport operation? Why?

Yes. These signs and markings not only provide a common visual guidance at all airports, they also serve as a safety mechanism to direct pilots to the correct location and to prevent runway incursions which could potentially lead to catastrophic incidents or accidents at airport.

If these markings and signs are not identified and recognized correctly, they could potentially cause confusion amongst the airfield operators(both pilot and ATC)with disastrous consequences.

31. As a tower controller, what should you do when you find the runway lights off?

Tell my leader.

32. In your opinion, what can be done to reduce runway incursion?

Read back all runway crossing and hold instructions, and review airport layouts as part of preflight planning. It is also important for pilots to know airport signs and review NOTAM for information on runway/taxiway closures and construction areas.

33. Do you think airport security check should be strengthened in China? Why?

To protect the airport and country from nay threatening events, to reassure the traveling public that they are safe and to protect the country and their people.
34. Do you think it is necessary for controller to know aircraft well? Why?

Modern commercial airliners vary from each other slightly or widely, and possess their own characteristics, how ever, they share the basic structures and aircraft systems that are briefly introduced here with boeing 757 as an example.

35. What aircraft systems do you know?

Flight control systems, landing gear, fuel system, power plant, electrical power, and auxiliary power.

41--how many control surfaces does the primary flight control system consist of?
The primary flight controls consist of elevators, ailerons and rudders .the secondary flight controls consist of spoiler, trim tab ,horizontal stabilizer, flap, slat.

42—radio communication failure?

If the aircraft encountered radio communication failure,the pilot will squawk 7600and transmitting blind. the message will be relayed to the controller,if the controller received the messages should give instructions to the pilot by sending message to the relaying aircraft.

